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Def .|
A corula ts C: o= o]

.l-
31U, V~ Uniform[0.1]
(not necessarily Tndependent )
Cu.v)=P(Usu, TsVv)
(Vu,vele])
or eau‘i‘valenﬂa

- [eVWu,ve(ol]

C(u.0)= Clo.v)=0

{ Clu.\)=u. c(L,v)=VU



k. OSWSU21, 02 ViS V2T I(2) | [Thy).3] (Sklar) 3

= C(U2,v2) =C(u;, Vy) | J!1C: CoFula
TCWUI+CULUIZ0 Ry gl)= € (Frt, Fy(a)
by (V.y<R)
v, ‘ [Deno‘te this C by Cxy. |
Ml (P-f)
X.Y : R-valued r.v.'s Cluv)=P(Fxtsu, Fy(Y)sv):
Pxy(.4):=P(Xsx,Ys3) T et
Fx(x) := P(x=2) Fayg)=P(Xs 2, Y53 )
Fy(8)=P(Y=4) = P(Fx(x) s Fxtw), Fw(‘\’)‘Fﬂ‘AI
Assume Px, By conti ‘ -C(Fx(t) Fv(9))
Than | |

Fx(X), Fx(Y) ~ Uniform[0.1]



| €.9. .4
XY ‘n‘m\ependen'f

&2 CX»Y (\Ao'\’)= WU'

Def IS
Let —-1<pP<I.
(%) ~Normal (001.(; )

= Cxx* hormal (.opula

C.[/;/ | with correlation P

@) [Def2.\)
For O<t<l,

A= P (Fy () >t | Fxxiot)

Prodad (Druk\
oy = Qim Axy(t)

2,329 AR
X, Y : R-valwed rv.'s
Assume Fx. Py @ conti.

Then
Fx(X). Fx(Y) ~ Unitorm 0,11

&)

tt1

X. Y 'independen't

= aylt)=1-t = Axx=0

- X=Y

= Axxlt)=1—>Axy= 1

? (Prop 2.2
Ax.x (k)= =%

1-2t +Cxy(t.t)

C o Axx(®) and  AxY depend

onla on Cx.\'.
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Cx.x = Cp (normal Lopula)

©)

= Axy =0
"No tail derenc\em.?
Ax,y(t)

t, |prod wp  Ce(p-05)
0.% 0.2000 0.4358
0.9 0.1000 0.3240
0.95 0.0500 0.24338
0.99 ooloo« 0.1294
0.99%5 | 0.0050 0.0993
0.4999 | o.0010 0.0543

Different asgmpfbﬁc
taq| dependence !

Cx X = Cp
2> Axx(t)

= [[CQp)3 =S [ | I+29.. | .
-Jz'!:‘:ﬁﬂem_ (s - : "O( ))

as 'tTl
=3~ (t) T o
t"‘ §(S)"‘ ‘ﬁl-“e 3 dl

_Q+p)® e -(_—5"? ‘_%_

27w(-p)
(r .

~(aw] S (121 (3 ) F

| g
(> s mseT)
~(4-1[') “‘f M (1- t) l"’P (—- ﬂoa(‘\ 'tu))-
( S=3'(t) ~ (—19.,3(1-“) )
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